COMMUTATIVE PROPERTY - A

ORDER DOES NOT MATTER
o MOVE T nomeere amooy | 1 o+ 4 = A1
AND STILL GET THE SAME ANSWER. 4 + 7 — 1 1
ADD NUMBER YOU PUT FIRST.
3. 9 + 8 = 17 4 15 + 6 = 21
8 + 9 = 17 6 + 15 = 21
e. /7 + 19 = 26 7 8 + 11 = 19
19 + 7 = 26 11 + 8 = 19
9. 62 + 6 = 68 10 9 + 24 = 33
6 + 62 = 68 24 + 9 = 33
2.8 + 83 = 91 11346 + 3 = 49
83 + 8 = 91 3 + 46 = 49
5. 4 + 55 = B9 16 7 + 91 = 98
55 + 4 = K9 91 + 7 = 98
USE THE COMMUTATIVE PROPERTY TO HELP YOU ADD.
1. 6 + 44 = 50 1917 + 9 = 26
21.33 + 8 = 41 2.4 4+ 51 = 55
4. 58 + 8 = 66 25 7 + 27 = 34
7.9 + 13 = 22 28 42 + 6 = 48
.20 + 7 = 27 3. 8 + 67 = 75
3. 9 + 17 = 26 3.8 + 1 = 90
6. 6 + 42 = 48 337. 72 + 5 = 77
3. 67 + 8 = 75 40 44 + 6 = 50
42.51 + 4 = 55 43 7 + 20 = 27
5. 5 + 90 = 95 4. 43 + 9 = 52
48. 27 + 7 = 34 49 28 + 5 = 33
51. b + 72 = 77 5 9 + 43 = 52
5. 13 + 9 = 22 55 66 + 7 = 73
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ANSWERS
HELPFUL EXAMPLES

5 + 22 = 27
22 + 5 = 27
23 + 4 = 27
4 + 23 = 27
5 + 35 = 40
35 + 5 = 40
0O + 17 = 17
17 + 0 = 17
8 + 13 = 21
13 + 8 = 21
64 + 6 = 70
6 + 64 = 70
5 + 28 = 33
46 + 7 = b3
1 + 8 = 90
8 + 25 = 33
32 + 9 = 41
8 + 58 = 66
53 + 6 = B9
8 + 33 = 41
90 + 5 = 95
7 + 46 = 53
6 + 53 = 59
25 + 8 = 33
9 + 32 = 41
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